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TTF1IA23B B ek B gid@
8845288 B T4 & B 15T
89F4A 140 B & tr & B of5eT
8911 A22B B E £ B 15T
90F5H21 8 B 4k B & 15T
9146A3R B T4 £ B 94T
10146 A118 B 4% 8 15T
BRRERE - HHKEESmEHEHLIN
— R AR
P=R+Qx (— x45% + Zix 55%)
(—)#&E i
R: BZEERER=A+B+C+D+E
T : HEEAMTRE
U : [EFEEE A TR E AT
Q: A ECHERE Q=T- X (R)-U
()il =8
LASCE &80 ~ SMGEERRT ~ LB RG 22t
y=0.15xh+03xI+035xj+0.06xk+1xm+0.2xn
2 FRERRE R SR
y=02xh+04xi+045xj+0.06xk+1xm+0.2xn
(=) AT
A — B T RS
JFIAIRIE (X ) = ——————
R — R4 R T R B
(TDIFFERT BB (B — B4 )
B B AW R B RSB
IR = ( %+ %)/2
L I = h Y EX P =y e

= SrE R A
()RS

LA :

2.B:
3.C:
4D :
5E:

%&%(Fﬁ%ﬁﬂ“‘ﬂﬂ‘ﬁ%) 300,000 JC

A e UL KA RS A 025 300,000 JT
HERFIAHEES 200,000 T

FAZLIERIE 50,000 T

BHILEL A 50,000 JT

Ui {ISES

9-10% Ef—H5H 30 /5 3-4%
7-8%  ER AR 25 1-2%
5-6%  EB=ARE 20 &

SRV 15 B
BT 10 5
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(7)) MEEAR R
1. fifid BEEA 45 %
2. JHFIE 55 %
(=) B4 HE
1 KBRS (h)
NGt & 220 ~ SMEEERRE ~ IEEBEREERRE 0.15
R R SR 0.2
2. FEEHE CREREEDT) (1)
NGt &2 ~ SNGEERRT ~ BT REERRE 0.3
R KSR 0.4
3. FEEREE R AHE ()
NGt & 220t ~ SMGEERRE ~ BTG EEPE 0.35
HHEART 48R 0.45
4. HEEELIE (k) 0.06
(V9) FrmAs
L BAEHEN (m) 1
2. FFAEHEN (n) 0.2

1. B2E RGBT AR RSB A S =12t -
2. REETE 2R [ Ha B R T AR e B B A T SR 2, ] A

L TR AT
(—) BRERIFEER - EEHAEHE
(=) BTy
L AR T - FEAREAT] ~ PSR B A S A
2. JAFIR TS DU TIPSt -
() BF 5 H 1 HE - RSB RS AR - H & ST
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